
Fiche 5 = avec reste ou sans reste 

 

 Dans ma tête, j’utilise les tables : La réponse est 
45 : 5 = 9 x 5 = 45 9 ou 9 reste 0 

53 : 7 =   

68 : 8 =   

31 : 9 =   

7 : 2 =   

26 : 3 =   

17 : 4 =   

35 : 5 =   

14 : 6 =   

39 : 7 =   

56 : 9 =   

 

  



 Dans ma tête, j’utilise les tables : La réponse est 

45 : 5 = 9 x 5 = 45 9 ou 9 reste 0 

53 : 7 = 7 X 7 = 49 + 4 7 reste 4 

68 : 8 = 8 X 8 = 64 + 4 8 reste 4 

31 : 9 = 3 X 9 = 27 +4 3 reste 4 
7 : 2 = 3 X 2 = 6 + 1 3 reste 1 

26 : 3 = 8 X 3 = 24 + 2 8 reste 2 

17 : 4 = 4 X 4 = 16 + 1 4 reste 1 

35 : 5 = 7 X 5 = 35 5 

14 : 6 = 2 x 6 = 12 + 2 4 reste 2 

39 : 7 = 5 X 7 = 35 + 4 5 reste 4 

56 : 9 = 6 X 9 = 54 + 2 6 reste 2 

 


